Einfache quadratische Gleichungen

1.

a)x*+6x+9=0
d)x*-2x+1=0
a)x*+4x=0
d)x*—14x=0

a) x*+10x+16=0
d)x*-8x—-33=0
a)2x*-16x+32=0
d)3x2+12x-15=0
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a)x*-5x+6=0
d)x*+4x—-12=0

a) (x + 3)(x —4) = 0
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b) x*-10x+25=0
e)x*—-20x+100=0
b)x*-9x =0
e)x?+6x=0
b)x*-2x-3=0
e)x*+14x+48 =0
b)3x* + 12x+156=0
e)0,4x*—-4x-44=0

b) x~+mx+Muo
5 5
e) Hx~+mx|mmno
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b)xX*-x—-6=0
e)x*+3x-88=0

b)(2x + 8)(3x—-2) =0

)Xt +12x +36=0
fyx?+4x+4=0
C)x*+12x =0
fyx*+22x=0

C) e+ B8x+7 =0
fy)x*-16x+15=0

C) 4x*—-8x—-32=0

f)0,5x*-0,5x—-0,375=0
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f) Hx~|mx|Wuo
2 2

C)x*+7x+14=0

f)x2—25x+150=0

c) (5x + 1)(2x - 4) =0
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Einfache quadratische Gleichungen — Losungen

1. a) x*+6x+9=0 b) x*-10x+25=0 c) X*+12x+36=0
L={-3} L={5} L={-6}
d) *-2x+1=0 e) x*-20x+100=0 f) x*+4x+4=0
L={1} L={10} L={-2}
2. a) +4x=0 b) x2—9x =0 ) X+12x=0
L={0;-4} L={0;9} L={0;-12}
d) x*-14x=0 e) x3+6x=0 f) x2+22x=0
L={0;14} L={0;-6} L={0;-22}
3. a) *+10x+16=0 b) xX*-2x-3=0 C) x3+8x+7=0
L={-8;-2} L={-1;3} L={-7;-1}
d) x*-8x-33=0 e) X*+14x+48 =0 f) x*-16x+15=0
L={-3;11} L={-8;-6} L={1;15}
4. a) 2x*-16x+32=0 b) 3x*+12x+15=0 C) 4x*-8x-32=0
L={4} L={} L={4)
d) 3x*+12x-15=0 e) 0,4x*—4x-44=0 f) 0,5x2-0,5x-0,375=0
L={-5; 1) L=faq:11) L={-05 18)
. a) x2—1x+§=0 b) x2+§x+—1-=0 c) 1)(2—l><+1:0
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d) 1x2—1x—1=0 e) lx2+.‘2x—ﬁ3--=0 f) 1><2—2x—§=0
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6. a) X*-5x+6=0 b) X*-x-6=0 c) X*+7Tx+14 =0
L={% 3} L={-2: 3} .
d) x*+4x-12=0 e) xX*+3x-88=0 f) x*-25x+150=0
L={-6;2} L={-11;8} L={10; 15}

7. a) (x+3)(x-4)=0  b) (2x+8)(3x—2)=0  c) (5x+1)(2x—4)=0
‘L={-0:4) f . L={-02;2}

d) (x+9)3x-12)=0 ) (5x—15)(4x—20)=0 f) (3x—18)(7x+14)=0
L={-9:4) L={3:5) L={6:-2}



